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Consider the feedback system with plant
k(s+2) R
d controller C(s)=——+-=,
and controller C(s) 5+ ) 404 Cs) > GGs)

G(s) = _...__5__.___.
s(s+2)(s +10)
(8%) a. Determine the controller parameter p such

that ZG(s)C(5)|s=-343; = —180°.
(8%)  b. Determine the value of k such that the closed loop system has poles on -3 +3; with p
determined in (a). ‘
(14%) c. Plot the Nyquist plot of the system G(s)C(s) and determine the gain and phase margin

of the compensated system with parameters obtained above.

5) (20%)
Vo

Determine the transfer function of
v,
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